
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 2nd Week, 2nd Day Exercise 5.3 Q# (1,2)

Q.1. Choose the correct options.   (1 x 3 = 3)  
(i) What is the mean of data 25, 29, 12, 15, 31, 36, 38, 40, 30?

 25, 29, 12, 15, 31, 36, 38, 40, 30 
(a) 25.76 (b) 26.62 (c) 27.40 (d) 28.44

(ii) In 5, 9, 8, 9, 10, 11, 3, 7 then mode is:  5, 9, 8, 9, 10, 11, 3, 7

(a) 3 (b) 7 (c) 9 (d) 11

(iii) What is the median of data 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6?  

 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6 
(a) 0 (b) 1 (c) 3 (d) 6

 Answer the following questions:  
Q.2. Find mean of the data. (2x2=4) 
(i) 42, 40, 47, 35, 41, 50 55, 30, 32, 45

(ii) 56, 71, 78, 67, 76, 62, 56, 77, 76, 63

Q.3. Compare mean, median and mode, and also tell the shape of

distribution of the given data.      (1x3=3)


24, 80, 50, 55, 66, 68, 79, 80, 80, 95
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